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35дм

35дм

? В 5 раз 
короче

Чему равен периметр?



проверь

 1.35 : 5 = 7 (дм)
        2. (35+7)*2=84(дм

Ответ: 84 дм



8дм6см

8дм6см

на 5см >

P-?



проверь
     
      8дм 6см = 86см
      86см + 5см = 91см
     ( 86 +  91 ) * 2 = 254см

      Ответ: 254см

354см

354см



3м 27см

3м 27см

Чему равен периметр.



проверь

      3м 27см = 327см
     327см * 4 = 1308см = 13м 8см

     Ответ: Р = 13м 8см 



? В 2 раза >
? В 2 раза >

1м 20см

P - ?



проверь
    а- ? В 2 раза больше, чем 
    в – 1м 20см
    Р - ?
     1м 20см = 120см
     120см * 2 = 240см
     (120 + 240) * 2 = 720см

Ответ: 720см



       93дм

           Р - ? 

       93дм



проверь
93дм * 4 = 372дм

Ответ: 372 дм = 37м 2 дм


